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2017 International Mathematics Contest (Taiwan)
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( A )1l B A@)-B(b)- C(c)- D(d)BJa-b/>c—d| - ab<0 - cd >0 - BITFIH
—ETEER A - B~ C - D EHA LRI E?

B A ¢ D

(A) +

(D) —= oA s
247 ab<0da - b EIKEN—FE—8 ; cd>0> c - d ESE - a—b|=AB - [c—d|=CD -
a—b|>|c—d[ AB>CD - A -
( D )2. BA11x13x15%17=36465" 518 2° x11x15X17-11X12x15x17=?
(A)36465 (B)72930 (C)109295 (D)145860 -
BT BT =(25-12) Xx11x15%17=52x11x15x17
=4X13%X11X15X17=145860 -

( D )3. EEMEREEE—HIt - cHIRAHMEER4SE  GHEREEE80E -
HHREIRB 60 ﬂEI FEEZAGEREN - BEHE  BHEZ—5 - BT
HER? (A)&ENIRVE 16 B(B)FEHEKRVE 9 B(Q)MEMZRVE 12 18(D)
®RVET700 E -

BZtr: (45, 80,60) =720(E)
%kt 720+45=16(81) ; B4R 720+80=9(8) ; &AM 720+60=12(1%) - E D -
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(D )4 MER - EEBREABHEAOTMAA L5 PRHZEE - FI:15+8=23 - Al
"A+B+C+D, WARTMA x RRMFHIW—EXF? |, |,

(A)7x-3 (B)2x+5 (C)9x-13 (D)5x+41 a3l ¢ |
R 15 8 | x | -3
C=8+x - D=x-3 - A=23+8+x=31+x » B=8+x+x-3=2x+5
A+B+C+D=31+x+2x+5+8+x+x-3=5x+41 -
( C )5 /BRI —BFHZE - MEECLEMBEES - SISR/\E: T ERIGE
80 AEE - JBE1EF/NRKFREEL ; BUINEI ARE  REE40H
EMEL - 1 RBBHKEETE - A TREEESENGEERS O AE?
(A)64 AE (B)70 AE ()72 AE (D)76 AE -

v/

e sap . 2 2
AT BB SRS Y AR . 80><%-%Y=90><§—§Y . Y=72

( B )6. BEEEIR - EEFIRTEH 500 ol 1000 soHr#d - HFEH 10000 T -
EMEAEHARNE  AIRBLERINAR?
(A)12#& (B)9 % (C)10# (D)8 #& -
fEHT:5% 500 TP RO X 3R - 1000 jc#P ROl ZHR Y 5R
500X+1000Y=10000 X‘18‘16‘14‘12‘10‘8‘6‘4‘2
X+2Y=20 % 9% - Y‘1‘2‘3‘4‘5‘6‘7‘8‘9
( B )7. EEERELE ST —RE AREBRBLAEIBERKMO HIFES 7T /R -
HH— KB 6 25 50 7 HPT1TEIILEE - MIFAAEREN - SEEFHIES
RO - EXE2 7811 5 - B0 - BT FEHKES S AR - MAEFE
HMFES 40 A2 - At SXERRESTZ O/ EXRBAH?
(A)6 88 (B)12 n#E (C)9 o8& (D)21 »i& -
BT BRELSIT X7 BREY R
X +Y =21
X Y% » Bl X=12 - Y=9 -

5x—+40x—=7
60 60
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( A )8 E#flab>0 - F5IIETIGEERER Lax+y=b HNEF?

A
>
N
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N

fEh: ax+y=b

X‘O

m | o

X ab>03~>0dEWARA | % :
i IV,
SN

( D )9. BE=EER y=3x-5-y=-3x+1 8 y=mx+3 BEEK—E=AK " BImE

o

e

AogeRm FAIM—EZ? (A)-3 (B)3 (C)-5 (D)5 -
i A=REEK
Oy=mx+3 B y=-3x-5 F{TIm=3 - Qy=mx+3 B y=-3x+1 F{TIm=-3
QO={REARXNR—FHPm=-5

( A )10. B ZMEHBX/NYRFPIEE—LEK . BiiF a Z2FANK - ZHB b
SFRIK - FZRGFRPIH—FBALHE - 2Fmt - WKH - ZMmRKE
EEGI& 2:3 - BRZRFBF LS 100 EARIA R - RimERPIKER—&

B - 5k a+b=? (A)1000 (B)800 (C)400 (D)200 -

a 1 3 1
BT 5:(b+§a) =2:3-)7a=2b+a-)5a:2b

a=4b - 2%a+100=b+%a—100 . b=200 - a=800 - # a+b=1000 -
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( A )1l R26 A77HVEE HE—EEER x AR=NEER - BEERER Yy 27

HENBRER z 2D - BRA x -y~ z WE% - BITSIRER O EERE?

2 Bz B}

(A)RF x B z BUIELS X(AE) |0 |5 |10]15|20]25
(B)RA y B x BYIELL y(A%) | 26|28 |30|32|34]36
(C)x B2 y BYIEEE - y 81 z T B IEEE z(~%3) |0 |2 |4 |6 |8 |10
(D)x ~y ~ z ZEIBRAIELLEA%

”: ————— ’ X=—17 o
BT S =5=2 "% "8 10 DX=3

(C )12, —KEREESE—RE - KEEANKAEZWL - mKIEARKEE ;B RYE
BAaE - FIAEPFRIEHVRIE - SUEGKETE 11:30 WEER TIIEE?

(A)KIEPBAK - # 25 B -
(B)EIB 5 HEKERE - 8
(C) KA KBIF RS - S N T T
(D)KABRBIKTE 5 HEBAIEIRSE - R

fEth: RRKEBKERyY - IEEA xFF - Bly=ax+b

.~

5400=7.75a+Db
{ =2>a=-1440 - b=16560 - y=-1440x+16560

3600=9a+b
y=0" x=11.5=11 5 30 73 - TRRKMIEFRT -
(€ )13. EHER 750cCHRTD - BHA HK - %15 10 BAHRABIERIA
Kep - BRKEA ; Bi% 2 FEMHEBERIRIBIRMA KD - &RKimiEd - BIb
o] S — BRI TR ER O BE T T A — B & E A2 (1c.c.=1cm?)
(A)15cm* A E - 20cm?® LT (B)20cm* A E - 25 ecm® U
(€©)25cm3* L E - 30cm* LT (D)30ecm® U E - 35 cm® LT
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BRAT: sR—EEINIEIRAVEETE A x cm®

750 g +10x < 750
3 - 19FI25<x<30 - EC-
750 = +12x > 750

( C )14. 58 265X263+266%266-266x 264-264 X 264 Z {EH A {a?
(A0 (B)1 (C)531 (D)533 -

R R =(264+1)(264-1)+266 % (266-264)-264°

=(264%-1%)+266x2-264%=531 -

( C )15. BB+ Z - A= ASHE(-2x%-3x+4)-(ax’+bx+c) - PBER 5x°+x - Z54&
R x*-5x+3 - ABER 5x-3 - EMAPR MY 1E - ZRIAMBEHIE - AR
fi¥f x 18 - Bla+b+c=? (A)-10 (B)-12 (C)-14 (D)-16 -

fEMr: BB:-2-a=5:a=-7: Z4:4-c=3:c=1'R":-3-b=5"b=-8

Bl a+b+c=-7-8+1=-14 -

( A )16. fHE - EAF ABCD HIESH APQR B RS BIR(3x+2) 243 Bi(4x-6)

AR BEMEESKEBEAY  DIWEPQL . HDQ=(x-4)A% - Rlf#it

HIEBZVERARD? B A
R
(A)3x%+25x-2
(B)3x2-x+10 .
(C)-3x2+38x-8 ¢ ® a

(D)-3x*-14x+16
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BT
PD = (4x-6)-(x-4)=3x-2 - Fﬁﬁ?=(3x+2)2-% (4x-6)(3x-2)=3x%+25x-2(EH AH)
( A )17. & x>-3x+2=0 - Bl x>+2x?-13x+3 HYEHT?
(A)-7 (B)7 (C)5 (D)13 - A&EH#EABAGT(FEEEEREER)
BT o (C+2x2 —13x+3) = (X* =3X+2) =X+5.... = 7
JHE = (X* =3x+2)(Xx+5)—-7=0-7=-7 =
( B )18.(FF)-8 B 64 BIFEAR (£)-12 B-144 MNFEHXR (R)0.3 2 0.9 IFEAR

(1) —E—E’JEIZE#E A EM{ERGL - IEENAEIR?

(A)LIE (B)21 (C)3JE (D)41E
BR4T: (FF) (-8)°=64>-8 2 64 T AR ; (Z)(-12)°2 144 - -12 FE-144 WEAR

216 4 _ 16 .

(M)0.3°2 0.09 - 0.3 F2 0.9 KFEAR (T) (- —) —%EE’\J:FE1‘E'%B°

- =+ 4AA 4
( A )19. 52a-b-c-d BIEEE - % /480~21.9 - &1 V480a - ,/% + J480+c¢C -

V480-d M RIEER - Ea- b ¢ dIARE/IMER - a+b+c+d=?

(A)103 (B)104 (C)105 (D)106

fR11:480=2"x3 X5

Da=2x3x5=30 b=2x3%x5=30 21?=441 - d=480-441=39  22%=484 -

c=484-480=4 - Bl a+b+c+d=30+30+4+39=103 -

( D )20. tk# a=+2-8 : b=+3-7 : c=J4-6 - ZZHA/NEAAB?
(A) a>b>c (B)b>a>c (C)c>a>b (D)c>b>a

AR

a’=(~/2-4/8)?=2-216 +8=10-216

b?=(4/3-4/7)?=3-2421+7=10-221

’=(V4-/6)?=4-224 +6=10-224

a<0,b<0, c<0 B c*<b%*<a’

2a<b<c
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( D )21. Calculate the exact value of 42-2x(8-3)=?
#lEE: T42-2%(8-3). STEHIEREE?

(A)200 (B)100 (C)23 (D)32
BRAT: STERBRENMIAE - FEIREBEM - R =42-2x5=42-10=32 -

(A )22. Which tank will fill up first?
#E M —EZE Kt &R Ew? e

(AF (B)G (OK (D)H ¥
BEHr: D A H #41E - [VEBELE L \J A \
B

& BN L BEBSEEK L BASRA F 1

BRI F B4k AL - ‘ | T B
D j E
L

=

T

(A )23.Figure out the following number laws:

14%2=21

20%4=75

36%9=320

40%10=?

(A)396 (B)386 (C)376 (D)366 °
R R TR R
BEAR:
14%2=14%x2-14+2=28-7=21
20%4=20%x4-20+4=80-5=75
36%9=36x%9-36+9=320
4010=40%x10-40+-10=396
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( D )24.1%11000 ZZ& % - i% 3 BIEEEE 4 BIERID BILIO RABIRER -

3 4 B8 9 BEOHAHEMINAESHEZ/IHE?
(A)164 (B)165 (C)166 (D)167 4 -
BT (341)=12 - B12EMER24A
1000+12=83......4
2x83+1=167# %D -

( B )25.A-B-C-D-ERAENER - mn7AH 107 SHRE -

A:TE475mE - .

B: "ES&ES - .

C: "HE A DHFEY - |

D: "2 5 BARFELSE - |

E:"THESSFE_S -HECZ25 -,

SER9 B B&S? (A)7 D (B)8 4 (C)94% (D)104 -
gt AB-C- D~ E&k5
(1) A=4 - F D<4 . Bl D &IE7 (D AolgE2 5 B ABFLT)
(2) A=4 - ¥ D=A=4 . Bl C= A;D =4
XNEEECZ27BIERF64%) BIDAOJgER 5 BANFELS -
(3)1R#E(1)(2) D>A=4 - 5 AX/ND>B>E>D>C>A

(4)A=4 - C= A;D = 4;D >D EEE

OE D=10>F&(C4I B &3)
Q% D=8 c=A_;D=%=6 " EEEC%24% - E=8

>B=5X6-(7+6+5+4)=8..FF5 - EB -
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1. Linear L: 3x+4y=12 graph x axis at a point, alternating y axis at point B,

(1) The area of the AAOBis . (15 %)

(2) If P (2, K) in the first quadrant, and quadrilateral PAOB area of 3 times the
area, the value of k? (10 %3)

#EE: B L3x+4y=12 MEFR x @it A% - Xy 84K B &4 -
(1)5k AACB gY@ T&E? (15 %)

(2)% P2, kEE—2[R - HIMER PAOB HETES AAOB
EHTER 3 & - 3k k Z{H?(10 &3)

BE AT

(1) 3x+4y=12 -

X140

y 03

A(4,0) - B(0,3) - AAOB mﬁ:% X 4x 3=6(F 75 )
(2)IUiE R PAOB Ei§=6x3=18 - EIIUEH PQOB+ AAPQ =18

%(3+k)><2+%><2><k=18

15
k= 2

Z+(1) AAOB I ETE =6 SEH A5 (2)k= %

2. FREEDRE - SEMFERT 20 RNATFERNTHZE 09 - hi0EEAE
AR 15 mI% 5 - ERNTAZMFHS 99 - ARMEMNEFHMAENRLE
R

2 32-b%?=99 - H a>b>0 - Al(a+b)(a-b)=99=1%x99=3x33=9X%11

a+b=99
{ . (a, b)=(50,49).... K&

a-b=1

» (a, b)=(18,15)..... RV RF 18 5%

a+b=33
a-b=3
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a+b=11
{ » (a, b)=(10,1).....R0ZEMRL 1 5%

a-b=9
MAMEZE=18-1=17 5% -

{a+b:ll

4 pog (@ b)=(10,1)..... FIEMNEF 10 5% - FUEMNRL 1 5%

M ATEZ=10-1=9

Z:17 R 9 5% °
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